L H

V.

=



BERMAER

T il [ 451 e B B & E[E
&% AR B T -
t=15cmBA T 23.00 23 m
i 0.03 0.03| nof
ASHEIKALSY T
DT2t L=1.9km A
) BHO.35ni
&% R Rk R T - .
t=15cmBL T 291.81 292 nof
¥ om o9 oHl T s
1162.39 1160 | o
) i) [ Bk e T
A= N =V A Tli=5em- BT 1R RIAS PK-4 281.15 981 | nf
AS & A 4y T
DT10t L=9.6km 13.14 13| of
) oAl B 4y T
DT10t L=9.6km 72.18 72| nof
A~ o E .
FEABIE T 291.81 292 m
Bl ite T
t=Hcm* FF AR EEAS - PK-3 1381.79 1380 | nof
FKEL —
Bl ite T
t=3cm- FRA MR BEAS - PK-3 72.41 72 of
T AN —T
AR EEAS 9.00 9 m
EHj- A+ 15em 307.40 310 m
filf - B - 45cm 3.60 4 m
[ENET L
FEfh- - 15em 14.55 15 m
€77 H-45cm 2.47 2 m
XF RS F - 15em A 18.64 19 m
o ) V7 - SR 3 - 15em 48.50 49 m
e AL AR X TR T
U7 R Eff - 15 28.00 28 m
. RMFHEEA 5 5( A
7l
LS EB 15 15 A




BEHEE

e Seellin

t=3cm 3.15 + 1.00 + 2.43 = 6.58 m

t=5cm 7.47 + 3.05 + 5.10 + 0.80 = 16.42 m
i 23.00

SHLE R AR

TR (t=15ecm L F) 219.40  + 72.41 = 291.81 nf

BIHIL t=5cm 1067.31  + 95.08 = 1162.39 m

B — S LA T 281.15 = 281.15 nf
t=bcm

ASHEIZK

t=3cm 6.58 X 0.00078 = 0.01 nf

t=5cm 16.42 X 0.0013 = 0.02 nf
it 0.03 nf

ASBILSY

Bt t=3cm 72.41 X 0.03 = 2.17 mb

TR t=5cm 219.40 X 0.05 = 10.97 ot
i 13.14 m

DALy

BIHI t=5cm 1443.54 X 0.05 = 72.18 m

RpEfir

B 219.40  + 72.41 = 291.81 nt

KL

FJE TH t=5cm PK-3 1067.31  + 219.4 + 95.08 = 1381.79 m

FJE TH t=5cm PK-4 281.15 = 281.15 mi

FJE T t=3cm PK-3 72.41 = 72.41 nf

TAI—T 9.00 = 9.00 m



e A A E

2N S B S A% (i) ik
® | BF¥ 9.35 3.10 3.10 28.99 | Ml T (GIHI) t=5cm
@ |=ar 2.50 12.85 16.06 "
@ |=Aaw 3.93 12.85 25.25 n
@ | B 4.85 7.75 8.70 39.89 "
® | BF 4.80 1.20 5.00 14.88 "
® | B 10.70 23.80 31.60 296.39 "
@ | BF 20.00 5.45 4.43 98.80 "
=i 20.00 4.43 4.34 87.70 "
©® | BF 20.00 4.34 4.37 87.10 "
=i 20.00 4.37 4.70 90.70 "
o | BF 20.00 4.70 3.85 85.50 "
® | B 20.00 3.85 3.90 77.50 "
® | BF 20.00 3.90 3.88 77.80 "
=7 10.00 3.88 3.90 38.90 "
® | =Aaw 0.60 14.75 4.43 n
= | Bk 0.60 4.30 4.30 2.58 PEBR
Gt | — = = — 1067.31
a =517 2.27 5.50 7.47 14.72 FEAHE T. t=>5cm
b (=017 3.17 3.05 5.35 13.31 "
c (=517 5.10 2.20 5.25 19.00 n
d | BF 5.20 7.95 12.55 53.30 "
e =517 20.20 3.05 4.10 72.22 n
[ =i 5.00 12.60 4.65 43.13 "
g | =HAF 1.60 4.65 3.72 n
Gt | — = = — 219.40
h =517 1.20 3.15 2.50 3.39 FEAHE T. t=3cm
i (=017 28.00 2.50 2.43 69.02 "
B — = = = 72.41
BIE 28.00 8.03 8.03 224.84 | BEMUE T (BIA1) t=5cm
® | B 5.05 15.20 7.10 56.31 "
Gt | — = = — 281.15
=i 16.85 5.50 5.50 92.68 | B T (BJHI) t=5cm
=4I 1.60 3.00 2.40 ”
aat | — = = — 95.08




AMA#R 6.00 + 41.00 + 25.80 +
= 15cm
68.50 + 39.90 + 260 @+
FEHR
2.30 + 113.60 + 7.70 =  307.40
& 307.40
J—RHR 1.80 + 1.80 = 3.60
| A 45cm )
& 3.60
T kAR 4.00 = 4.00
Iy 15cm
e Bikki#E  6.60 +  3.95 = 10.55
H 14.55
o IR 247 = 2.47
77 A 45cm )
& 2.47
EFhn  18.64 X 1 = 18.64
L
. H | 15cm#aE
k=2 i
g 18.64
T AR AR X T R
AMA#R 250 + 250 + 1550 +
=| 15cm 28.00 = 48.50
eSS & 48.50
OB 28.00 = 28.00
A 15cm )
& 28.00




